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1) Statement-  (i) Lucia is seamstress.

(ii) seamstresses make dresses

Inference- Therefore, Lucia makes dresses.

a) True

b) Probably true

c) False

d) Probably False

e) Irrelevant

 2)  Statement-  (i) Radio singers have sweet voice.

(ii) Kamla does not have a sweet voice.

Inference- No girls have sweet voice.

a) True

b) Probably true

c) False

d) Probably False

e) Irrelevant

3) Statement-  (i) All tables are counters.

(ii) All counters are cages.

Inference- Therefore, all tables are cages.

a) True

b) Probably true

c) False

d) Probably False

e) Irrelevant

4) If on rearranging the jumbled spellings of  the word ‘MILTA’, an Indian language is obtained, what is the last letter of the word?

a) M

b) I

c) T

d) L

5) Which one of the following words will occur latest in the telephone dictionary?
a) Shashidharan

b) Sasidharan

c) Shasidharan

d) Shashidaran

6) The difference in how many letters is in the positions of Z in the word  ‘EMPHASIZE’ and alphabet?

a) 12

b) 18

c) 16

d) 15

7) If ‘O’ represents Often, then which of the following words is represented by ‘W’?

a) Water

b) Walk

c) Wiser

d) Woman

8) At what angles the hands of a clock are inclined when it is half past 8?

a) 85 degree

b) 80 degree

c) 75 degree

d) 60 degree

9) If 4th September, 1987 falls on Sunday, then what day will fall on 31st Dec. 1987?

a) Monday

b) Tuesday

c) Friday

d) Saturday

10) Ram is richer than Shyam but not so rich as Sohan but poorer than Ramesh, then Shyam is
a) richer than Sohan

b) as poor as Sohan

c) poorer than Ramesh

d) Richer than Ramesh

